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It does not state, ‘by his friends’ - NP K9 Yo

Overview

The 71wn stated that if one lent money to a 772, etc., he may withhold the 7m0 as a
payment for his loan.! The 113 asked how can this be, since the 772 never received
the 17?1 21 answered that the mwn is discussing 7172 97 so it is considered as
if the 3770 received it.” Xmw answered that he was 73 the 72170 to the 3772 (through
an agent). The & 13 explains that PXmw does not learn like 27 since the mwn does
not mention 713772 01, and 21 does not learn like 8w since the mwn made no
mention of X "y 73m. This obviously requires some clarification since the
difficulty in each vw® is the same (that it is not mentioned in the 7Iwn), why did
each one (27 and 2Xw) choose his particular interpretation?!

Moo responds to the anticipated difficulty:*
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Even though that 71212 is also not mentioned in the 71w%, nevertheless it was

more feasible to establish the mwn by 721 since it is applicable to all a%:3,

rather than establishing the 771w» by 71372 *751n which applies to a limited amount of 2175 -
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And 17 who established the 71wn by 952 since the mw» does not state 7o,

even though it also does not state 3957, because -
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It seems to 2 that the term 3799 w % which is stated simply without qualification
indicates that it is done without any %12° (transference of ownership).

Summary
The advantage of 721 is that it applies to all 2°1772, and the advantage of 71173 *12»

is that fits well with w19,

" The lender separates the proper amount of 7170 and instead of giving it to the 773, he may keep it or sell it and
deduct the value of the 770 from the amount the 37> owes him, thereby reducing the loan until it is paid up.

? See 3"yX1 7" "W,

? See Mama "7 "0,

* See ‘Overview”.

> Why therefore did 7X@ choose the interpretation of 721 over 711172 *19n, since both are not mentioned in the 71wn.
% The awn seems to be saying that this tactic may be done by all 2°373, not only 71715 ™2», therefore it makes more
sense to establish the 71wn by 7o7.

7 The mwn seems to indicate that all that is required is to be w™on, without any other action (including »12°%)
therefore 27 would rather establish the 71wn by 71370 70n.

1
TosfosInEnglish.com



*101m27"7 0IN R,? 1A .7"'02

Thinking it over
Why did the X% have to mention, *Inp R *72n and *1np X2 721, when the X n3

could have offered mooin explanation why %X 27 disagree with each other?
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